CHTA3LIW 7R 10 B A8 B3 B 8 22 Y 45

uint8 a_TimeBase_Cnt; [/ TR &

bit fg_RH_Module_Convert; [/ A 4 58 Ribr AL
bit fg_RH_Module_Mode; [/ SGEAE 7 bR A
bit fg_RH_Module_SBus; [/ LR AR G

bit fg_RH_Module_Done;

uint8 a_Module_Buff[5]; [/ TRAFER
bit fg_ RH_Module_12C; //NC A

bit fg_RH_Module_lInit; [T U654

bit fg_SBus_error; [/ B R A EAL

char count20ms_F;
void __attribute((interrupt(0x0C))) ISR_MFO()  //F Wikl A 0x0c B G H W
{
uint8 a_temp_cnt =0;
_mfof = 0;
if(_t0af)// 10ms
{
_t0af =0;
count20ms_F +=1;
if(count20ms_F >=2)// 20ms

{
count20ms_F =0;
/]
if(fg_RH_Module_Init==1) //5E¥14H1L
{
Display_Scan(); Ve = RE TN
}
/]
a_TimeBase_Cnt++; /I TR B N
if(a_TimeBase_Cnt >=200) //ZEiR 2s
{
a_TimeBase_Cnt=0; //IM BB EHEE
fg_ RH_Module_Convert =1;
}
//

if(fg_RH_Module_Convert == 1)
{



if(fg_RH_Module_Mode == 0)// .22
{
uint8 Byte,Cnt;

pn_Bus_0(); //Bus fi i Low
if(fg_RH_Module_SBus == 1)
{
fg_SBus_error = 0;
pn_Bus_1(); //Bus Hith High
if(fg_SBus_error == 0)
{
a_temp_cnt=0;
do
{

a_temp_cnt++;
if(a_temp_cnt >=100)

{
fg_SBus_error =1;
break;
}
lwhile(pn_Bus);  //
}
if(fg_SBus_error == 0)
{
a_temp_cnt=0;
do
{
a_temp_cnt++;
if(a_temp_cnt >=100)
{
fg_SBus_error =1;
break;
}
Ywhile(!pn_Bus);//55 455 L R AIK FE P 25
}
for(Byte = 0 ; Byte < 5 ; Byte++)//40bi t 452Uk
{

for(Cnt=0; Cnt < 8 ; Cnt++)
{



a_Module_Buff[Byte] = a_Module_Buff[Byte]

<< 1;//IRAFE s =AU
if(fg_SBus_error == 0)
{
a_temp_cnt=0;
do
{
a_temp_cnt++;
if(a_temp_cnt >= 100)//%| W1 & 75
eling
{
fg_SBus_error =1;
break; //BkH ARG
}
Jwhile(pn_Bus);  //5FF M2k E BT
R
}
if(fg_SBus_error == 0)
{
a_temp_cnt=0;
do
{
a_temp_cnt++;
if(a_temp_cnt >=100)
{
fg_SBus_error =1;
break;
}
Ywhile(!pn_Bus);//55 4 il AR HLT- 45 0R
}
GCC_DELAY(80);
if(on_Bus == 1)
{
a_Module_Buff[Byte] =
a_Module_Buff[Byte] | 0x01;
}



fg_RH_Module_SBus = 0;
fg_RH_Module_Convert = 0;
fg_RH_Module_Done = 1;

}
else
{
fg_RH_Module_SBus = 1;
}
}
else// IIC 15
{

fg_RH_Module_Convert = 0;
fg_RH_Module_I2C=1;



